
M100Z M110Z
M120Z M130Z
M100ZD

M100ZD

M100LD

 

1

2

3

4

4

5

6

6

7

8

9

10

11111111

12

13

14

15

16 17

18

19

19

20

21

22

23

23

24

24

25

26

27

27

28

29

29

30

31

32

33

33

34

35

35

36

36

37
38

39

40

41
42

43

43

44

44

45

45

46

47

48

48

49

49

50

51

51
51

51

52
52

53

54

55

56

56

56

56

57

58

59

60

61

62

6363

6464

65

6666

6767

6868

69

70

71

www.palfingerepsilon.com

M - Serie # 171686806.010

07/2013

Telescopic boom



www.palfingerepsilon.com

M - Serie # 1716868 06.010

07/2013

Telescopic boom

1 YE53012 2 d=8,4 DIN125AWasher
2 YE53009 2 d=13 DIN125AWasher
3 YE51007 4 M10x20 DIN7991Screw
4 YE50076 6 M10x20 DIN912 8.8Cheese-head screw
5 YE50005 2 M12x30 DIN912 8.8Cheese-head screw

6 YE50010 4 M12x50 DIN912 10.9Cheese-head screw
7 YE50126 2 M8x45 DIN912Cheese-head screw
8 YE51047 1 M16x10 DIN913Set screw
9 YE51006A 4 M24x35 DIN913Set screw
10 YE50012 1 M10x20 DIN933Hexagon screw

11 YE01049A 1 min 1887Telescopic cylinder
YBD071A 1 Seal kit                       

for M100L80V,M110L80V,M120L80V,M130L80V,M100L97
for M100LD97,M110L97,M120L97,M130L97,M100L95TR,
for M110L95TR,M120L95TR,M100Z96,M110Z96,M120Z96
for M130Z96,M100Z84TI,M110Z84TI,M120Z84TI
for M100Z95TR,M110Z95TR,M120Z95TR

11 YBD071A 1                       Seal kit
11 YE01049B 1 min 1427Telescopic cylinder

YBD071A 1 Seal kit                       
for M100L68,M110L68,M100L75,M110L75,M120L75,M130L75
for M100L83,M110L83,M120L83,M130L83,
for M100L81TR,M110L81TR,M120L81TR
for M120Z77,M130Z77,M100Z82,M110Z82,M120Z82,M130Z82
for M100Z87,M110Z87,M120Z87,M130Z87

11 YBD071A 1                       Seal kit
12 YE10092 1 D=40 L=160Pin
13 YE10093 1 D=14 L=131Pin
14 YE10094 2 D=30 L=48.5Pin
15 YE10095 2 D=62 L=66.5Pin

16 YE10111 1 D=35 L=81Pin
17 YE11007 4 D=47Washer
18 YE11027 1                       Pin locking 
19 YE13069 2 d=42 D=48 B=6Spacer
20 YE13076 2 d=41 D=48 B=3Spacer

21 YE13108 1                       Spacer
22 YE15052X 1                       Guide block
23 YE15053 2                       Guide block
24 YE15054 6                       Guide block
25 YE15055 4                       Guide block

26 YE15056A 2                       Guide block
27 YE15057 2                       Guide block
28 YE15062 1                       Guide block
29 YE17062 2                       Pin
30 YE17086X 1                       Brush

31 YE18041A 1                       Protection
32 YE20005 4                       Hose roller
33 YE20011 2                       Hose roller
34 YE20012A 2                       Hose roller
35 YE21013X 1                       Chain roller

Position 19 are not included in the delivery.

36 YE21014X 1                       Chain roller
37 YE22055 2                       Fitting
38 YE22056 2                       Fitting

Description DimensionNo. Qty.Spare part


